	One would have to be travelling away from the origin at a decreasing velocity. Deceleration in the forward direction is occurring, as the velocity is decreasing in magnitude in forward direction at an exponential rate. Velocity starts at 2 M/H, and end at 1 M/H at vertex. This was a descriptive answer.

	Staating with a positive velocity, an object decelerates constantly, stops, then speeds up in the opposite direction with contantly acceleration until the nadir of the velocity.

	You would start moving forward at a decreasig rate. However, the rate at which you are decreasing is concave up, and therefore decreasing. Yoo do this until you are not decreasing nor increasing in velocity anymore. I like how the lower cae g is above the line pg weird.

	To get a graph portion like this an object must be decelerting at unconstant rate, so there would be a jerk. A car with a driver that applies greater and greate pressure on break pedal whould provide this graph. The acceleration of the object becomes more negative.

	i would move with a decreasing velocity away from the sensor. I would be moving at a continually decreasing acceleration so i would be accelerating less and less with each passing moment.

	A very slow turtle would move to make this graph. The turtle would move forward away from the origin with a decreasing but positive velocity. The velocity is decreasing parabolically. The turtle has a linear deceleration. The turtle moves like this for 1.5 seconds, where it stops decelerating and has no accleration.

	I would start with a velocity of 66% of my maximum velocity away from the origin. i would continue with ajerk towards the origin until my acceleration was zero and my velocity was roughly 30% of the maximum velocity away from the origin.

	For the first part of te graph, you would have to be moving with a constantly changing deceleration.
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